Integer Practice
Warm-Up




or UNLIKE terms.

i 5x2 and 9x E



lems.
s combined. Match each
. When done move the red

y +2xy° v

+ Dyz
+ 9y
-7xy + 8y

- 7xy







Distribute in math means to give to each

number

8 (5 + 3)
8 (5 + 3) = 8(5) + 8(3)

S



Rewrite each using the distributive property:

2) 2(6+4)=
b) 3(4‘x+2x)

c) (4A+3)4

d) (8+ 1) 3,



e) 7 (x+ c)

f) y(4 + 2)

g) x (2x + 3)



h) 2(x-3) =

1) y(2-y°)

j) 3x(-2x - 4)=



With negatives. ... follow the integer rules!
K) -2 (2 + 3)

) -4 (3x + 4)
m) -3x( -4 + 2)
n) 3x(-5x - 4y)
0) -2xX° (-2x - (-3))

p) 4x(9y-(-8))



The commutative and distributive properties

1 3(x + 3)+ 7x




Apply the distributive property to simplify like terms

5(4 + x) - 2x 3(x + 2y) - 6y - 3x

8y -4y + 4(y - 2) Ox - 4(x + 2)

HINT @
® LNIH
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